GROUP WRITTEN ASSIGNMENT #1 
Due Saturday September 24 @ 2:00 pm

(A) Overview:  For this assignment, you will make a series of arguments based on State v. Shaw about a hypothetical involving first possession of wild animals.  I have provided seven subjects for your arguments, three supporting each party, and one tie-breaker that asks you to briefly discuss whose position is stronger. I divided you into teams of three or four students. Each team will submit a written response for one of three Sub-Assignments, each of which requires you to formulate five of the arguments (two supporting each party and the tie-breaker).
To get the most out of the assignment, I strongly suggest that you try to do all seven arguments even though I will only be able to read and put comments on the five assigned to your team.  After I have received your written submissions, I will post comments and best student answers from prior years, so you can start to evaluate your own work.   In addition, for further practice and review, you can try on your own to make the best arguments you can for each party in the hypothetical based on Pierson, Liesner, and the Demsetz excerpt.

(B) Hypothetical:  Farmers in Ohio have been losing chickens and eggs to wild weasels that have become very numerous in recent years.  The state offered a bounty of $12.00 for each weasel a citizen brings to a state game warden.  Adam and Blake (with their respective wives) each own a farm adjacent to a state-owned forest where Ohio residents are permitted to hunt or trap weasels.  

Adam created many traps in the forest by digging holes 1.5 meters deep.  After throwing in a handful of chicken-flavored dog food to attract the weasels, Adam covered each hole with sticks and leaves.  
When weasels fall into Adam’s traps, they sometimes are injured and unable to get out. Even if they are unhurt, because of the depth of the traps, the weasels take about two days to dig themselves out and escape.  Adam is primarily employed as a surgeon and only has time to check and reset the traps every four or five days, so about half the weasels that fall into his traps manage to escape.  

Knowing all this, Blake recently began taking weasels out of Adam’s traps and turning them in to collect the bounty.  Adam claims that the weasels that Blake takes from Adam’s traps are Adam’s property. 

(C) Subjects of Arguments
(1) Formulate an argument relying on the following passage from Shaw that, at the time Blake took them from the traps, the weasels were Adam’s property:

To acquire a property right in animals ferae naturae, the pursuer must bring them into his power and control, and so maintain his control as to show that he does not intend to abandon them again to the world at large. 

(2) Formulate an argument relying on the same passage used in (1) that, at the time Blake took them from the traps, the weasels were not Adam’s property.

(3) Formulate an argument that the facts in the hypothetical are sufficiently like the facts in Shaw that, at the time Blake took them from the traps, the weasels were Adam’s property.  Choose between one and three specific factual similarities on which to base your argument. 
(4) Formulate an argument that the facts in the hypothetical are sufficiently different from the facts in Shaw that, at the time Blake took them from the traps, the weasels were not Adam’s property.  Choose between one and three specific factual differences on which to base your argument.
(5) Formulate an argument that applying the policy favoring rewarding useful labor to the hypothetical supports concluding that, at the time Blake took them from the traps, the weasels were Adam’s property.

(6) Formulate an argument that applying the policy favoring rewarding useful labor to the hypothetical supports concluding that, at the time Blake took them from the traps, the weasels were not Adam’s property.

(7) Briefly discuss which of the two sets of arguments—the odd-numbered arguments supporting Adam or the even-numbered arguments supporting Blake—you think is stronger (and why).  If your team disagrees on this issue, briefly describe the different positions team members have taken. (“Two/Three of us believe ….  The other student(s) believe(s) …”)
(D) Sub-Assignments

· “Sub-Assignment 1A”  = Submit Arguments 1-4 & 7

· “Sub-Assignment 1B”  = Submit Arguments 1-2 & 5-7

· “Sub-Assignment 1C”  = Submit Arguments 3-7

(E) Instructions 

(1) For this assignment, follow the General Instructions for Group Written Assignments (IM22-24) and the specific instructions provided here. 

(2) Use the lists in part (G) below to determine your teammates and which sub-assignment you must do.  The person marked with an asterisk will serve as coordinator for the team.  For purposes of the heading on your submission, describe your sub-assignment as it appears in quotes in both parts (D) and (G).
(3) This assignment is about applying State v. Shaw to a new situation.  To complete the assignment, you should not do any outside research or refer to any other cases or to the Demsetz excerpt.  Instead, reread Shaw carefully to ensure that your arguments are consistent with its language and holding.
(4) Your team’s work-product will consist of one integrated document containing the five arguments listed in part (D) as constituting your sub-assignment.  Do not repeat the subjects of the arguments I have given you; simply make the arguments.  

(5) Begin each of your arguments with the number I used to identify it, even though the numbers will not necessarily run consecutively.  In other words, if you are doing Sub-Assignment 1B, your first two arguments (applying the passage from Shaw) will be numbered 1 and 2.  However, your next two arguments (applying labor theory) will be numbered 5 and 6.  Everyone’s tie-breaker argument should be numbered 7.  
(6) Your group may find it helpful to have an initial discussion to formulate the first four arguments and assign drafters for them, then to later discuss the tie-beaker argument after the others are relatively complete.  You also may find it helpful to set deadlines for circulating drafts so each of you has a chance to comment on the other students’ work.  
(7) I have used variations of this assignment for many years.  Although some of this year’s facts are new, much of the sense of the hypothetical remains unchanged.  Thus, if you happen to come across the work of prior students or a my comments/best answers from prior years, do not look at them.  References in your work to facts from prior versions of the hypothetical will be treated as presumptive honor code violations. Similarly, until your team coordinator has submitted your work-product, do not discuss the substance of the assignment with other students in Section B aside from your teammates.
(F) Structuring Your Arguments:  Here are some general ideas about how lawyers often structure our arguments and suggestions specific to each of the subjects that comprise the assignment.  You should read through these guidelines carefully and deviate from them only if your group is fairly certain that doing so will make a particular argument clearer or more persuasive.
(1) A Common Structure for Legal Arguments (Relevant to Arguments 1-6)

(a) Generally: Lawyers often use variations on the following structure when crafting legal arguments (e.g., this structure probably roughly parallels guidelines your L.Comm. instructors have given you for writing legal memos): 

· You begin by stating a general rule, policy or principle. Sometimes, this can take the form of a description of a case or a group of cases, such as “Where [fact + fact + fact], then [legal result].”  
· If you are making the argument in a formal written document, you then provide a citation to appropriate authority to support the rule, principle or policy you are employing.  Because all of your starting points here come from Shaw, you need not provide citations for this assignment. 

· Next, you provide information about the situation under discussion that shows why it does or doesn’t fit within the rule, policy or principle.  

· You then briefly note the conclusion you draw from the application of the rule, policy or principle to the facts of your situation.  

Here are three examples arising from our class discussions (note that there are counter-arguments to each), followed by more details about how to use this structure to formulate the first three types of argument required by this assignment.
Example #1: A person can obtain property in an animal ferae naturae by bringing it under control “so that actual possession is practically inevitable.”  Liesner.  In Shaw, few of the fish that entered into the nets would escape under ordinary circumstances.  The net-owners were practically assured that when they went to pull up the nets, they would find fish in them.  Because most of the fish that swam into the nets ordinarily ended up in the net-owners’ hands, it seems fair to say that the nets brought the fish under sufficient control to make their possession by the net-owners practically inevitable.  Thus, the fish in the net were the net-owners’ property.  

Example #2: Legal rules that are simple to apply are useful because they help prevent uncertainty and quarrels by allowing people to determine their rights easily.  See Pierson.  The trial court in Shaw held that for a net to give the net-owner property in the fish inside it, the net had to be escape-proof.  Because it would be very difficult to prove that a net is escape-proof, net-owners subject to this rule would only know if their net was sufficient after an elaborate investigation.  Because the rule is not simple to apply, the policy favoring certainty suggests that a rule that was easier to prove would be preferable. 

Example #3: The majority in Pierson stated that the labor of those who use nets or traps to catch animals “and render escape impossible may be justly deemed” to give them property rights.  Implicitly, the court contrasted the labor of successful trappers with that of Post, which was ineffective in obtaining actual possession of the fox, and therefore did not create property rights.  The net-owners in Shaw labored by setting up nets in public waters.  Although this labor did not succeed in preventing the escape of every fish that entered the net, it did succeed in permanently capturing most of them.  Because the net-owners’ labor was successful in accomplishing its purpose of capturing some fish, it is more like the labor of the trappers discussed in Pierson than like the unsuccessful labor of Post.  To reward this successful labor, the nets should be considered adequate to create property rights for their owners even though some fish do escape. 

(b) Applying the Passage from Shaw (Arguments 1 and 2):
i. Begin by directly quoting the passage you are working with. 

ii. Next, apply the passage to the hypothetical, recognizing that it contains two requirements or prongs.  The pursuer (1) “must bring [the animals] into his power and control” and (2) “so maintain his control as to show that he does not intend to abandon [the animals] again to the world at large.”  

· Address the two prongs separately. 

·   To win, Adam must show that both prongs are met.  

·   To win, Blake must show that at least one of the prongs is not met.  Thus, in formulating Argument 2, you may (if you wish) concede that Adam met one of the two prongs.
· In applying the passage, explain why the facts of the hypothetical do (or do not) fit the relevant language. Don’t simply list some facts and announce the result.
iii. Conclude with a simple sentence tying your application of the passage back to the ultimate question about property rights.  E.g., “Because both prongs of the test are met here, the weasels in the traps were Adam’s property when Blake removed them.”
(c) Comparing the Facts of Shaw (Arguments 3 and 4):
i. Begin with a statement connecting the result in Shaw to the facts you have selected as relevant for that argument: “In Shaw, the court held that fish in nets were the property of the net-owners where [Fact 1] (+ [Fact 2] + [Fact 3])”

ii. Next, provide parallel facts from the hypothetical and explain why the similarities (or differences) from the selected Shaw facts suggest that the result in the hypothetical should be the same (or different).
· You must do more than merely note that two facts are similar (or different).  You must also explain why the similarity or difference is significant to determining the result.

· If you are working with more than one relevant fact comparison, use parallel structure to make clear to the reader which fact from Shaw you are comparing to which fact from the hypothetical.

·   You might address each fact comparison individually by listing one relevant fact from the hypothetical and immediate explaining its significance, then moving on to the next fact.
·   Alternatively, you might address all the fact comparisons together, first laying out all relevant similarities or differences, then discussing their significance as a group

iii. Conclude with a simple sentence tying your factual comparison(s) back to the ultimate question about property rights.  E.g., “Because the facts here are sufficiently different from those in Shaw, the weasels in the traps were not Adam’s property when Blake removed them.”
(d) Applying the Policy Favoring Rewarding Useful Labor (Arguments 5 and 6): 
i. Begin with a sentence connecting the policy to what happened in Shaw:  “By holding that the fish in the nets at issue in Shaw were the property of the net-owners, the court implicitly applied the policy favoring rewarding useful labor because [explanation of how the result furthers the policy].”  If you think it helpful, you are welcome to provide a different explanation for each of your labor arguments.

ii. Next, explain why the policy supports treating (or not treating) the weasels Blake took as Adam’s property.  You might consider the extent and or the usefulness to society of the labor undertaken by either or both parties, what alternative or additional labor they might have undertaken, and/or the incentives created for the parties and similar people if you do or don’t award property rights to Adam.
iii. Conclude with a simple sentence tying the policy back to the ultimate question about property rights.  E.g., “Thus, to further the policy favoring rewarding useful labor, the weasels that Blake removed from Adam’s  traps should [not] be considered Adam’s property.”
(2) Formulating Tie-Breaker Arguments (Argument 7): The first four arguments in each sub-assignment should be very narrowly focused.  In the final argument, you must present one or more reasons that your prior arguments favoring one party are stronger than those you made for the other side.  This leaves you more room to talk about different aspects of the relevant authority as long as you ultimately tie your points back to the merits of your original arguments and don’t drift into more general arguments about who should win the case.  For example, if I had asked you to do two arguments applying the language “took reasonable precautions to prevent escape,” you might argue that one of the two arguments seemed stronger because the facts of Shaw suggest that the court believed that “precautions” were “reasonable” if the net-owners were fairly certain that there would be fish in the nets whenever they checked.  Some other guidelines for tie-breaker arguments:

· Don’t just repeat points from the earlier arguments; say something new and explain (as opposed to simply announcing) why your new point (or points) suggests that one party’s position is stronger. 

· Strengthen your argument favoring one position by directly responding to the strongest points you made for the other side.

· You can argue that one pair of your arguments seem equally strong (and briefly explain why).  You can even argue that your two paired sets point in opposite directions (e.g., the fact comparison favors Adam, but labor policy favors Blake), so long as you choose and defend an overall winner.
(G) Group Written Assignment #1 Teams
B1 Teams in Blue; B2 Teams in Green

Coordinators listed with asterisk* before name.

“SUB-ASSIGNMENT 1A”:
Altobello, Jake; Barth, Nikki; *Berman, Cassie
Augustin, Cailey; Cheney, Megan; *Cottingham, Joseph; Halpern, Jacqueline 
Dudley, Alex; Fernandez, Brian; Gonzalez, William; *McLemore, Nicole
Fontalvo, Ivan; Norris, Hunter; *Sholes, Zack
*Goldberg, Jeremy; Pereira, Will; Rafaeli, Joey; Robledo, Manuel
Masson, Michael; *Ramelize, Malik ; Stevenson, Leah
*Rust, Rob; Wassermann, Emily; Wright, Shawn
“SUB-ASSIGNMENT 1B”:
Beltran, Nathania; Berman, Jordan; Brody, Alex; *Campo, Nina
Conde, Juliee; *Dhermy, Sanya; Gordon, Chris; Massagli, Angelo
Fish, Kevin; Gangemi, Nick; Iglesia, Mike; *Morejon, Leidy
Galavis, Jorge; Re, Taniuska; *Wood, Elaine
*Horn, Daniel; Pringle, David; Robins, Josh; Sharp-Dimitri, Hillary
*Ricobaldi, Michael; Simon, Nathan; Wisnoski, Nevin
Sainte, Brianna; *Walsh, Bryan; Zilber, Michael
“SUB-ASSIGNMENT 1C”:
Akkaya, Filiz; *Ardijanto, Matt; Borden, Christal; Goldschmidt, Max
Bernstein, Dara; D'Bazo, Alyssa; Dubberly, Steve; *Evans, Trey
*Fleming, Stephen; Lecca, Norka; Pereira, Raymond; Pita, Ricardo
Ledbetter, Gaby; Michel, Tim; *Shevlin, Jessica
Levine, Madison; *Saldana, Candelario; Valenti, Sarah
*Lopez-Trigo, Mark; Webb, Tyler; Wilson, Heather
Solis, Juanita; *Wagner, Brian; Zimet, Vad
8

